IIT&SCaHTe 6T @QUSH&EL, CFsremner — 6
Guosurflemev @\reterL_mb gy st CLUTgis: Gaiia wmié/srigsh — 2023
sanflgi — aflenL &@GMiLger

QurgISEGMILILE6T
Qurss wHICLsbTSsT : 90
1 @hs wHIIH Weopulled 2 erar ANMLS6T YEMETSGID LT LILSSSD LHDID

&ie| US55508 Il LML LTSS O\smeuor(heTerg|.

2. @hs wdHiih opuid G Herarems  sefllT  wLIHY  (Wswpuilsd
LomemTeUTSH6T SlTeT Siie) SeTy HHSTOI SESHS URIS D pemmuisd (o
LGS supEIsILL Goustor(HiLb.

3. dov ellemLsEnsE S0y 2 drar YesEMILUSMmET SeueTL6T  LisTUnM
Geueor(pILD.

4. SHTmST  TUSTLe  Sansdlar  Siellmer  sflurss  sevr(herer
LOTEOOTEUTSHET  LITSHSSLILLTLN  @QIHULSHS&TS, (HeHTmssfler wdlifaner
2 aTeTL&& HlemevaseT euemTUMISSLILL (DeTemenr. eTeorGel, Hlemeser SHeumTs
@M G0 UL &&5560 €SS SIS 6T giflurs 6T LILIL Lg (B 6aT
(5,5 HhISEHSsTer SlGluer uturg ayphsiu. GCesmm@hi. Glsmel *
G LT  @MssUul(herarear. HamassT  SuNTsS  @HHS SSHS
tGSSIhissT sflurs srupdl @minfer Heme wHliGlue (2%) oue @)mindsr,
(g5HS5SME 1 wHiGusr eayprisiuL G,  (GSSHTmRS6T
STSTOSSTS LSILICILETIT GmMSSH6 Sl M)

5. ud (), ued (), ugd (V) @ 2 arar ellarmalbhsmsr allenLG6T (LPLYaISILD
gflure @mEsTo Chrewrs W LSHIGUETST apRislLL Gausr(HiL.
flemeugsfley soum @Mm&EL ussHo W HGw (stage marks) Hlemeo
wHUIGUTTS6T Sevfl&seflurs suprsiuL. Gastor(hi.

6. B / smuy eowullerme  WsIULGsTem  efsmLser WL HG  HITH

@&nuiuL. Geustsr(Hib



ugH — |
1. goysoLw elsLuller @Huih womin gger el eTpdufmiilsr w HiGw 1
w&HIGUeTT GamHssuL Galstr(hi
2. aflsmL GHWH jevevg) allemL g Slwnimnley TGS 66TMI Seumms: @\ L6,
I15ME& 0 wHLIGLster L HIGL auprisLILL CalsmT(HiLd.

Code A Code B
Q.No | Option Answer Q.No | Option Answer

1. (=) p(4) =n 1. () =

1
2. | () 1 2. | (=) x e [5 ,1]

1

3. | () x e [E ,1] 3. | (9 3
4. | (o) y = kx a. | (o :
5. (1) 3 5 () z
6. (@) 0 6 (<) log 2
7. Mere Attempt 7. (FF) 2
8. () 2 8 (FF) 1
9 | (o = o | (o —
10 () VA 10. (rF) -4
11 (S1) g 11. () n
12. | (o) - 12. | @) 5
13. (@) 5 13. @) 2
14. (@) 2 14. (31 y = kx
15. | (=) z 15. | (<) 2ab
16. | (@) -4 16. | (o) g
17. (<) log 2 17. (<) p(A)=n
18. () n 18. Mere Attempt
19. | (@) _—6” 19. | (m) 7
20. (<) 2ab 20. (@) 0




ugs — Il

Q.NO CONTENT MARKS
21.
lz+3+4i| <7 1
|z +3+4i| =3
3<|z+3+4i|<7 1
22. Py e, [n _pra_ i 1
\ﬁ+\ﬁ+\/7_m+ﬁ
B \/W_I_\/W 1
a l l
=0
23. c=+JaZ(1+ m?) = +/9(1 + 16) 1
c=+3V17 1
24, dv = 47(10)?(—0.1) 1
= —40mcm?® 1
25. o dx (1o -1(x)]" 1
fb a?+x? [atan (a)]b
I _ i n-12 1
- [2 ta ]
26. ~ _ 31-4j+5k 1
="z
L (31-4j+5k) _ 1
( 5v2 )_7
27. (1 1
AvB_(1 1) 1
0 1 1
A/\B_(0 1)
28. T _atpa_(1 O 1
AAT = A A—(O 1)
A stetTug) QeThiG &8I oj6of 1
29. m=>5

CarThGsT 1per gwerumr® 5x —y —3 =0

30.

ecose+1sm9 — ecosQ elsme

cos0 cos0

= Y cos(sinf) + ie°s" sin(sinh)




s &S @iy : ugH — Il & ugd — IV

@ GONIL Lgflome SaupTs @IHHS SmETE SMiHS (PHos auflser
sfliurs @infsr (flemeo wHOCLET 165@ Guors @HsEL CUTWS) GBS
afsEpsg ol wdHltusmmamss 9Hs HmasEfin  WwHIGLsHT il mHS

9iflsgs (stage mark) Qar(hss Geustor@id. Hlamsg@iiu (e wHIGLsToTensTT L

(P(DEHLOWITE LINISS6) ol TG,
ugd — Il
Q. NO CONTENT MARKS
31. ureuememug et getur(® (x + 1) = 4a(y + 2) 1
a=1 1
2
x2+2x—-2y—-3=0 1
3z2. a+ { =152x10° 1
a—c=94.5x10° 1
t& Mgy & @ L LHEnTE GeusHn@Lomsr gmn = 575 X 10° &8 1
33. -1<3x—-1<0 1
0<3x<1 1
0<x< ! 1
¥=3
34 _ _ 2 _ 1
cosa—g,cos,B—g,cosy——3 5
2 1
a=p =cos™?! <§) ,y =cos ! (— §> 1
35. N3~ (533 21 (— 2
(125 = 2% ~ (5 + - (=2)
~ 24.73 1
36. cosydy = e* (logx + i) dx 1
siny = e*logx + c 2
37. |F(a)] =1 1
cosae 0 -—sina
[F(@)]™*=] 0 1 0 ] 1
sina 0 cosa

= F(~a)




38.

MM
IR B

—|d|m| 4]l
| m|d[4|!

(1) (1)
P=2qEq-oD

1+1

39.

z=5+4+1

40.

A=(c+a—-b) —4(b+c—a)(a+b—c)

A= 4(c — a)? (perfect square)

eLpEUMHIGST 6.11S(Lpm)I 6T6T0T SH6ITIT(G)LD

ugs — IV

Q. NO

CONTENT

MARKS

41.9

@3 = —8i
z= 2 [cos (4’”;_”) + isin (4’“;_”)] k=0,1,2

k=0 emeofleb, z= Z[COS(?) + isin(?)] =+3-i

kK = 1 erevflev, Z=2[cos(§)+isin(z)] = 2i

2

k=2e¢reoflo, z= 2[—cos(£ —isin(z)] = —3—-1

6 6

TRV

41.9)

dx 1 1

|
I
=
I




42. 9

Cammu eusmILLLD

ad=cosal+sinaj
b =cosBi+sinf]
g 6iem LGS

42. 9|

_ 1
400
o , for x <200

k

>

1
F(x) ={——- =, 200 <x <600
(x) 200 2 for X
1 for x > 600

1
P(300 < x <500) = >

1+1+1

43. 9

@5 e(m HemeuL L LD
(x—-4)? O+2)° _
2z " 18 °
soLowitd (4, —2)
Gt (4, —2 +/6)
(pemeuraseT (4, — 2 + 3v2)

TRV

cos™t ¥= a wpmid cos™'y = B eTetia

a+ f=m— coslz

cos (T — cos™1z) = xy — {1 —x2/1—y?

\/1—x2\/1—y2=xy+z
x2+y?+z2+2xyz=1

44. 9

36 -6 1 8
[A|B]=<4 2 1 —12)
9 3 1 8
a=1,b=3,c=-10
guerur(® v = x% + 3x — 10

P(7 60) steorm Lsreflumsarg) esorum_soL Hlemme| Ql&lanigmen
S|6LI60T |ELETIEDLLLI [H6ITLIENETT &b ILIT6IT.

1+1+1

TRV




4.5 = g i 1
my = _% mﬁ]QJLhmZZ% 141
m1 X mz = _BX_;Z = _1 1
QarH&sUULL amaTalmrseT Clemi@s55Ts Glail e &0l TeTEnLn 1
45. 9 Ad=i—j+3k,i=21—j+4k,v=14+2j+k 1
Q6usLIT FLoearLim(p
F=(0—j+3k)+s(2t—j+4k)+e(i+2]+ k) 2
SiedlLeoT FLosoTLIm(H
9 /-2y —52+4=0 2"
i
45. 9 | 3x* — 10x + 3 eétruigy) 6x* — 5x° — 38x% — 5x + 6-617T (1 1
ST 6esuf LML
6x* —5x3 —38x2 —5x + 6 = (3x2 — 10x + 3)(2x2 + px + 2) 1
p=>5 1
wH@ur sryewil  2x% + 5x + 2 1
. 1 1
eevhigeT eombG -, 3, — >, —2 1
46.91 || | q | r| P |0q| (—qVvr) | P2 (2qVT) | —pV(aqVT)
T, T|T| F | F T T T
T\ T|F| F | F F F F
TI\F|T| F | T T T T
TI\F|F] F | T T T T
F| T|T| T |F T T T
FI T |F| T F F T T 1414141
FIF|T| T |T T T T
FIFIF| T |T T T T
‘ (1) (1) (1)

~
[u=y
—

p—(nqVr)=-pV(=qVr)
Note i) The order of rows and columns need not be same as in
the scheme
ii)If any mistake in the table then award two marks for the
table

LRV




